525-284

725-476 SynthaMax Dry Media Filter - Yellow

Component Identification

1.725-476 Airaid Premium Filter
2.AIR-KIT284 Air Intake Tube
3.AIR-KIT284CAB Cold Air Box

4. AIR-KIT1121MAFADA Filter Adapter
5.AIR-KITRDCR22 Reducer
6.AIR-KITHUMPHSO5SEPDM Hump Hose
7.AIR-KITSTRIP17 Weather strip
8.AIR-KIT15BHC3050 #8-32 x Y.”Button Screw
9.AIR-KIT15DHC3050 ¥4-20 x 2" Button Screw
10.AIR-KIT20CSCZ630 M6x1.0x30Hex Bolt
11.AIR-KIT20ANCZ060 M6x1.0 Acorn Nut
12.08275 1/4” Flat Washer
13.AIR-KITSPACERO05 Spacer
14.AIR-KITFITTING24 5/8 Barbed Y Fitting
15.AIR-KITFITTING16 YA NPT to 5/8” Barbed
16.AIR-KITHOSE10 2 1/2” 5/8” Hose
17.AIR-KITSNP19M4 #19 Speed Clamp

18. 08601 #48 Hose Clamp
19.AIR-KITHS64 #64 Hose Clamp
20.AIR-KITHS72 #72 Hose Clamp

21.AIR-KIT110T 8” Zip Tie

—_— DD = = N = = = DN A DN DD WD) = e e e e e





